

Matthews Partial Metric Space Using $\mathcal{F}$ -Contraction

Bonuga Vijayabaskerreddy¹, Veladi Srinivas²

¹ Department of Mathematics, Sreenidhi Institute of Science and Technology (SNIST), Hyderabad, India.

Email: basker.bonuga@gmail.com (ORCID ID: 0000-0001-6254-3973)

² Department of mathematics, University college of Science, Osmania University, Hyderabad, India.

Email: srinivasmaths4141@gmail.com (ORCID ID:0000-0003-1991-4569)

Article History:

Received: 12-05-2024

Revised: 22-06-2024

Accepted: 09-07-2024

Abstract:

Following the notion of partial metric space (briefly PMS) established by Matthews [1], in this present research article, we proved common fixed point theorem for two pair of self maps using the weakly compatible mappings through $\mathcal{F}$ -contraction. In addition, we give an illustrative example.

Keywords: Partial Metric Space (PMS), $\mathcal{F}$ -contraction, weakly compatible (WC).

MSC (2000): 54H25;47H10.

1. Introduction

As a generalization of metric space, the concept of partial metric space emphasized by Matthews [1] in the year 1994. Recently, many fixed point theory researchers established fixed point theorems using different contractions with different weaker conditions. The PME play an vital role in study of data flows network and also theory of computation in the computer science. Some authors prove fixed point theorems in PMS like, [2],[3],[4],[6], and [8].

In the metric space the notion of F-contraction proposed by Wardowski [5], which is generalization of well known Banach contraction principle. Recently, Nazam M et.al, proved common fixed point theorems using one and two self mappings concerning F-contraction in PMS [7].

On the other hand, Sessa initiated the notation of weakly commuting maps which generalized the concept of commuting mappings consequently Jungck G, Rhoades B E [9] generalized this idea first to compatible mappings and later to weakly compatible (shortly WC) mappings.

The aim of the research article is to establish existence of unique common fixed point theorem for four self mappings through $\mathcal{F}$ -contraction using the idea of WC mappings in PMS.

Now we recall useful fundamental Definitions, Lemmas of PMS.

Definition 1.1[1]: A Partial metric on non-empty set $\mathfrak{X}$ is a function $\mathcal{P}:\mathfrak{X} \times \mathfrak{X} \rightarrow \mathbb{R}^+$ such that for all λ, μ, ξ in $\mathfrak{X}$:

$$(\mathcal{PMS}_1): \mathcal{P}(\lambda, \lambda) = \mathcal{P}(\lambda, \mu) = \mathcal{P}(\mu, \mu) \Leftrightarrow \lambda = \mu$$

$$(\mathcal{PMS}_2): \mathcal{P}(\lambda, \lambda) \leq \mathcal{P}(\lambda, \mu)$$

$$(\mathcal{PMS}_3): \mathcal{P}(\lambda, \mu) = \mathcal{P}(\mu, \lambda)$$

$$(\mathcal{PMS}_4): \mathcal{P}(\lambda, \mu) \leq \mathcal{P}(\lambda, \xi) + \mathcal{P}(\xi, \mu) - \mathcal{P}(\xi, \xi).$$

The pair $(\mathfrak{X}, \mathcal{P})$ is called partial metric space (briefly PMS) and $\mathcal{P}$ is a partial metric on $\mathfrak{X}$.

A mapping $\mathcal{P}^s: \mathfrak{X} \times \mathfrak{X} \rightarrow \mathbb{R}^+$ is defined by $\mathcal{P}^s(\lambda, \mu) = 2\mathcal{P}(\lambda, \mu) - \mathcal{P}(\lambda, \lambda) - \mathcal{P}(\mu, \mu)$

is usual metric, where $\mathcal{P}$ is partial metric on $\mathfrak{X}$.

Example 1.2[2,3]: Suppose that $\mathfrak{X} = \mathbb{R}^+ \cup \{0\}$ and we defined $\mathcal{P}(\lambda, \mu) = \max\{\lambda, \mu\} \forall \lambda, \mu \in \mathfrak{X}$. Then $(\mathfrak{X}, \mathcal{P})$ is PMS but not (usual) metric space.

Definition 1.3[1]: Let $(\mathfrak{X}, \mathcal{P})$ be a PMS. A sequence $\{\lambda_n\} \subseteq \mathfrak{X}$ converges to $\lambda \in \mathfrak{X}$ if and only if $\mathcal{P}(\lambda, \lambda) = \lim_{\eta \rightarrow \infty} \mathcal{P}(\lambda, \lambda_\eta)$. Also cauchy sequence $\Leftrightarrow \lim_{\eta, \zeta \rightarrow \infty} \mathcal{P}(\lambda_\eta, \lambda_\zeta)$ exists finitely.

Lemma 1.4 [1]: Let $(\mathfrak{X}, \mathcal{P})$ be a PMS and then,

- (i) $\{\lambda_\eta\}$ is Cauchy sequence in $(\mathfrak{X}, \mathcal{P})$ if and only if it is a cauchy in metric space $(\mathfrak{X}, \mathcal{P}^s)$.
- (ii) $(\mathfrak{X}, \mathcal{P})$ is complete PMS if and only if $(\mathfrak{X}, \mathcal{P}^s)$ is complete. Moreover, $\lim_{\eta \rightarrow \infty} \mathcal{P}^s(\lambda, \lambda_\eta) = 0 \Leftrightarrow \mathcal{P}(\lambda, \lambda) = \lim_{\eta \rightarrow \infty} \mathcal{P}(\lambda, \lambda_\eta) = \lim_{\eta, \zeta \rightarrow \infty} \mathcal{P}(\lambda_\eta, \lambda_\zeta)$.

Lemma 1.5 [4]: Assume that $\lambda_n \rightarrow \xi$ as $\eta \rightarrow \infty$ in $(\mathfrak{X}, \mathcal{P})$ with $\mathcal{P}(\xi, \xi) = 0$ then $\lim_{\eta \rightarrow \infty} \mathcal{P}(\lambda_n, \mu) = \mathcal{P}(\xi, \mu) \forall \mu \in \mathfrak{X}$.

Lemma 1.6[4]: Let $(\mathfrak{X}, \mathcal{P})$ be a PMS.

- (i) If $\mathcal{P}(\lambda, \mu) = 0$ then $\lambda = \mu$. (ii) if $\lambda \neq \mu$ then $\mathcal{P}(\lambda, \mu) > 0$.

Definition 1.7[5]: A mapping $\mathcal{F}: \mathbb{R}^+ \rightarrow \mathbb{R}$ is said to be $\mathcal{F}$ -contraction if it satisfying following conditions

$(\mathcal{F}_1)$: if $\lambda, \mu \in \mathbb{R}^+$ such that $\lambda < \mu \Rightarrow \mathcal{F}(\lambda) < \mathcal{F}(\mu)$

$(\mathcal{F}_2)$: for each $\{\alpha_\eta\}_{\eta \in \mathbb{N}} \in \mathbb{R}^+$, $\lim_{\eta \rightarrow \infty} \alpha_\eta = 0$ if and only if $\lim_{\eta \rightarrow \infty} \mathcal{F}(\alpha_\eta) = -\infty$.

$(\mathcal{F}_3)$ $\exists$ real number $\theta \in (0, 1)$ such that $\lim_{\alpha \rightarrow 0+} \alpha^\theta \mathcal{F}(\alpha) = 0$.

Notation 1.8[5]: We symbolize the collection of all functions which satisfy the above specified constraints $\mathcal{F}_1$ to $\mathcal{F}_3$ by $\Delta_{\mathcal{F}}$.

Definition 1.9[5]: A self mapping $\mathfrak{U}: \mathfrak{X} \rightarrow \mathfrak{X}$ is said to $\mathcal{F}$ -contraction if there exists a $\tau > 0$ such that for all $\lambda, \mu \in \mathfrak{X}$, $d(\mathfrak{U}\lambda, \mathfrak{U}\mu) > 0$ and we have $\tau + \mathcal{F}(d(\mathfrak{U}\lambda, \mathfrak{U}\mu)) \leq \mathcal{F}(d(\lambda, \mu))$.

Example 1.10: Let $\mathcal{F}: \mathbb{R}^+ \rightarrow \mathbb{R}$ be given by $\mathcal{F}(\alpha) = \log_e \alpha$ and satisfies $\mathcal{F}_1$ to $\mathcal{F}_3$. Each mapping $\mathfrak{U}: \mathfrak{X} \rightarrow \mathfrak{X}$ is an $\mathcal{F}$ -contraction such that for all $\lambda, \mu \in \mathfrak{X}$, $\mathfrak{U}\lambda \neq \mathfrak{U}\mu, d(\mathfrak{U}\lambda, \mathfrak{U}\mu) \leq e^{-\tau} d(\lambda, \mu)$.

It is clear that $\lambda, \mu \in \mathfrak{X}$ such that $\mathfrak{U}\lambda = \mathfrak{U}\mu$ then $d(\mathfrak{U}\lambda, \mathfrak{U}\mu) \leq e^{-\tau} d(\lambda, \mu)$ also satisfying i.e. $\mathfrak{U}$ is Banach contraction.

Example 1.11: Defined the complete PMS $(\mathfrak{X}, \mathcal{P})$ by $\mathcal{P}(\lambda, \mu) = \max\{\lambda, \mu\}$ and also complete metric space $(\mathfrak{X}, d)$ by $d(\lambda, \mu) = |\lambda - \mu|$ for all $\lambda, \mu \in \mathfrak{X}$.

Define mappings $\mathcal{F} : \mathbb{R}^+ \rightarrow \mathbb{R}$ and $\mathcal{F}(\alpha) = \log_e \alpha$ and $\mathfrak{U}$ by $\mathfrak{U}(\lambda) = \begin{cases} \frac{\lambda}{2} & \text{if } \lambda \in [0, 1) \\ \frac{3}{4} & \text{if } \lambda = 1 \end{cases}$ then

$\mathfrak{U}$ is not a $\mathcal{F}$ -contraction in metric space certainly for $\lambda = 1$ and $\mu = 1/2$,

$d(\mathfrak{U}\lambda, \mathfrak{U}\mu) > 0$ and we have $\tau + \mathcal{F}(d(\mathfrak{U}\lambda, \mathfrak{U}\mu)) \leq \mathcal{F}(d(\lambda, \mu))$

$$\Rightarrow \tau + \mathcal{F}\left(d\left(\mathfrak{U}(1), \mathfrak{U}\left(\frac{1}{2}\right)\right)\right) \leq \mathcal{F}\left(d\left(1, \frac{1}{2}\right)\right)$$

$$\Rightarrow \tau + \left|\frac{3}{4} - \frac{1}{4}\right| \leq \left|1 - \frac{1}{2}\right|$$

$$\Rightarrow \tau + \frac{1}{2} \leq \frac{1}{2} \text{ which is a contradiction for all } \tau > 0.$$

Now if we studying in PMS $(\mathfrak{X}, \mathcal{P})$ we get,

$$\tau + \mathcal{F}(\mathcal{P}(\mathfrak{U}\lambda, \mathfrak{U}\mu)) \leq \mathcal{F}(\mathcal{P}(\lambda, \mu))$$

$$\Rightarrow \tau + \mathcal{F}\left(\mathcal{P}\left(\mathfrak{U}(1), \mathfrak{U}\left(\frac{1}{2}\right)\right)\right) \leq \mathcal{F}\left(\mathcal{P}\left(1, \frac{1}{2}\right)\right)$$

$$\Rightarrow \tau + \mathcal{F}\left(\max\left\{\frac{3}{4}, \frac{1}{4}\right\}\right) \leq \mathcal{F}\left(\max\left\{1, \frac{1}{2}\right\}\right)$$

$$\Rightarrow \tau + \mathcal{F}\left(\frac{3}{4}\right) \leq \mathcal{F}(1) \text{ which is true.}$$

In similar manner our assertion is true for every other points in $\mathfrak{X}$.

Definition 1.12: Let a pair of self mappings f and g are defined on a set $\mathfrak{X}$ is weakly compatible (WC) if a point $\lambda \in \mathfrak{X}$ is such that $f\lambda = g\lambda$ implies $fg\lambda = gf\lambda$.

The aim of this paper is to develop a fixed point theorem for $\mathcal{F}$ -contraction in PMS $(\mathfrak{X}, \mathcal{P})$ using the notation of weakly compatibility.

In the next section we present our main result.

3. Main Results

Theorem 3.1: Let $(\mathfrak{X}, \mathcal{P})$ be a complete PMS. Suppose that $f, g, \mathfrak{S}$ and $\mathfrak{T} : \mathfrak{X} \rightarrow \mathfrak{X}$ are four self mappings satisfying

- (i) $f(\mathfrak{X}) \subseteq \mathfrak{T}(\mathfrak{X})$ and $g(\mathfrak{X}) \subseteq \mathfrak{S}(\mathfrak{X})$
- (ii) two pairs $(f, \mathfrak{S})$ and $(g, \mathfrak{T})$ are WC mappings
- (iii) $f(\mathfrak{X})$ or $\mathfrak{T}(\mathfrak{X})$ or $g(\mathfrak{X})$ or $\mathfrak{S}(\mathfrak{X})$ is closed subset of $(\mathfrak{X}, \mathcal{P})$
- (iv) assume that there exists $\mathcal{F} \in \Delta_{\mathcal{F}}$ and $\tau > 0$ for $\lambda, \mu \in \mathfrak{X}$ such that

$$\mathcal{P}(f\lambda, g\mu) > 0 \Rightarrow \tau + \mathcal{F}(\mathcal{P}(f\lambda, g\mu)) \leq \mathcal{F}(\mathcal{M}(\lambda, \mu)) \dots \dots \dots (3.1.1)$$

where $\mathcal{M}(\lambda, \mu) = \max\{\mathcal{P}(\mathfrak{S}\lambda, \mathfrak{T}\mu), \mathcal{P}(f\lambda, \mathfrak{S}\lambda), \mathcal{P}(g\mu, \mathfrak{T}\mu), \frac{1}{2}[\mathcal{P}(f\lambda, \mathfrak{T}\mu) + \mathcal{P}(g\mu, \mathfrak{S}\lambda)]\}$.

Then $\mathfrak{S}$, $\mathfrak{T}$, $\mathfrak{f}$ and $\mathfrak{g}$ have a unique common fixed point in $\mathfrak{X}$.

Proof: Let $\lambda_0 \in \mathfrak{X}$ be any point. By the (i) of (3.1), we construct sequences $\{\lambda_\eta\}$ and $\{\mu_\eta\}$ in $\mathfrak{X}$ satisfying

$$\mathfrak{T}\lambda_{2\eta+1} = \mathfrak{f}\lambda_{2\eta} = \mu_{2\eta+1} \text{ and } \mathfrak{S}\lambda_{2\eta+2} = \mathfrak{g}\lambda_{2\eta+1} = \mu_{2\eta+2} \dots\dots\dots (3.1.2)$$

for $\eta = 0, 1, 2, \dots\dots\dots$

Step-I: To prove that $\mathcal{P}(\mu_\eta, \mu_{\eta+1}) \rightarrow 0$ as $\eta \rightarrow 0$.

$$\tau + \mathcal{F}(\mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+2})) \leq \mathcal{F}(\mathcal{M}(\lambda_{2\eta}, \lambda_{2\eta+1})) \dots\dots\dots (3.1.3)$$

It follows from $(\mathcal{PM}\mathcal{S}_2)$ and $(\mathcal{PM}\mathcal{S}_4)$ that

$$\begin{aligned} \mathcal{M}(\lambda_{2\eta}, \lambda_{2\eta+1}) &= \mathcal{M}(\lambda, \mu) \\ &= \max \{ \mathcal{P}(\mathfrak{S}\lambda_{2\eta}, \mathfrak{T}\lambda_{2\eta+1}), \mathcal{P}(\mathfrak{f}\lambda_{2\eta}, \mathfrak{S}\lambda_{2\eta}), \mathcal{P}(\mathfrak{g}\lambda_{2\eta+1}, \mathfrak{T}\lambda_{2\eta+1}), \frac{1}{2} [\mathcal{P}(\mathfrak{f}\lambda_{2\eta}, \mathfrak{T}\lambda_{2\eta+1}) \\ &\quad + \mathcal{P}(\mathfrak{g}\lambda_{2\eta+1}, \mathfrak{S}\lambda_{2\eta})] \} \\ &= \max \{ \mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1}), \mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta}), \mathcal{P}(\mu_{2\eta+2}, \mu_{2\eta+1}), \\ &\quad \frac{1}{2} [\mathcal{P}(\mu_{2\eta}, \mu_{2\eta+2}) + \mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+1})] \} \\ &\leq \max \{ \mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1}), \mathcal{P}(\mu_{2\eta+2}, \mu_{2\eta+1}), \frac{1}{2} [\mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+1}) + \mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1}) + \\ &\quad \mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+2}) - \mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+1})] \} \\ &\leq \max \{ \mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1}), \mathcal{P}(\mu_{2\eta+2}, \mu_{2\eta+1}) \} \end{aligned}$$

If $\max \{ \mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1}), \mathcal{P}(\mu_{2\eta+2}, \mu_{2\eta+1}) \} = \mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+2})$ then

$$\tau + \mathcal{F}(\mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+2})) \leq \mathcal{F}(\mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+2})) \text{ this implies}$$

$$\mathcal{F}(\mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+2})) \leq \mathcal{F}(\mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+2})) - \tau \text{ which is contradiction to } (\mathcal{F} - 1).$$

Thus $\max \{ \mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1}), \mathcal{P}(\mu_{2\eta+2}, \mu_{2\eta+1}) \} = \mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1})$ for all $\eta \in N$.

$$\text{From (10), } \tau + \mathcal{F}(\mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+2})) \leq \mathcal{F}(\mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1})) \dots (3.1.4)$$

Constituting this way, it follows that

$$\mathcal{F}(\mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1})) \leq \mathcal{F}(\mathcal{P}(\mu_{2\eta-1}, \mu_{2\eta})) - \tau \dots\dots (3.1.5).$$

Using (3.1.4) and (3.1.5)

$$\begin{aligned} \mathcal{F}(\mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+2})) &\leq \mathcal{F}(\mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1})) - \tau \leq \mathcal{F}(\mathcal{P}(\mu_{2\eta-1}, \mu_{2\eta})) - 2\tau \\ &\leq \mathcal{F}(\mathcal{P}(\mu_{2\eta-2}, \mu_{2\eta-1})) - 3\tau \leq \mathcal{F}(\mathcal{P}(\mu_0, \mu_1)) - (2\eta + 1)\tau \dots\dots (3.1.6) \end{aligned}$$

$$\text{And } \mathcal{F}(\mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1})) \leq \mathcal{F}(\mathcal{P}(\mu_{2\eta-1}, \mu_{2\eta})) - \tau$$

$$\begin{aligned} &\leq \mathcal{F}(\mathcal{P}((\mu_{2\eta-2}, \mu_{2\eta-1}))) - 2\tau \\ &\leq \mathcal{F}(\mathcal{P}((\mu_0, \mu_1))) - (2\eta)\tau \dots (3.1.7) \end{aligned}$$

Repeating,

$\mathcal{F}(\mathcal{P}(\mu_\eta, \mu_{\eta+1})) \leq \mathcal{F}(\mathcal{P}((\mu_0, \mu_1))) - \eta\tau$ then it follows $\lim_{n\eta \rightarrow \infty} \mathcal{F}(\mathcal{P}(\mu_\eta, \mu_{\eta+1})) = -\infty$ by $\mathcal{F} \in \Delta_{\mathcal{F}}$ and

$$(\mathcal{F} - 2) \text{ we have } \lim_{\eta \rightarrow \infty} \mathcal{P}(\mu_\eta, \mu_{\eta+1}) = 0 \dots (3.1.8)$$

Step-II

Now we prove that $\{\mu_\eta\}$ is $\mathcal{P}$ -Cauchy sequence. By $\mathcal{F} \in \Delta_{\mathcal{F}}$ and (F -3) there exists $\ell \in (0,1)$ such that

$$\lim_{\eta \rightarrow \infty} \mathcal{P}(\mu_\eta, \mu_{\eta+1})^\ell \mathcal{F}(\mathcal{P}(\mu_\eta, \mu_{\eta+1})) = 0 \dots (3.1.9)$$

By (3.1.6) and (3.1.7)

$$\begin{aligned} \lim_{\eta \rightarrow \infty} \mathcal{P}(\mu_\eta, \mu_{\eta+1})^\ell \mathcal{F}(\mathcal{P}(\mu_\eta, \mu_{\eta+1})) &= 0 \\ \lim_{\eta \rightarrow \infty} \mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+2})^\ell \mathcal{F}(\mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+2})) - \mathcal{F}(\mathcal{P}(\mu_0, \mu_1)) \\ &\leq \mathcal{P}(\mu_{2\eta+1}, \mu_{2\eta+2})^\ell - (2\eta + 1)\tau \leq 0 \dots (3.1.10) \end{aligned}$$

And

$$\begin{aligned} \lim_{\eta \rightarrow \infty} \mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1})^\ell \mathcal{F}(\mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1})) - \mathcal{F}(\mathcal{P}(\mu_0, \mu_1)) \\ \leq \mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1})^\ell - (2\eta)\tau \leq 0 \dots (3.1.11) \end{aligned}$$

Using the above inequality and (3.1.9)

$$\lim_{\eta \rightarrow \infty} \mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1})^\ell = 0.$$

Therefore, there exists $\eta \in \mathbb{N}$ such that $\mathcal{P}(\mu_{2\eta}, \mu_{2\eta+1})^\ell < 1$ for all $\eta \geq \eta_1$.

$$(\text{Or}) \mathcal{P}(\mu_n, \mu_{n+1}) < \frac{1}{\eta^{1/\ell}} \dots (3.1.12)$$

Let $\zeta, \eta \in \mathbb{N}$ with $\zeta > \eta > \eta_1$ using triangular inequality we have

$$\begin{aligned} \mathcal{P}(\mu_\eta, \mu_\zeta) &= \mathcal{P}(\mu_\eta, \mu_{\eta+1}) + \mathcal{P}(\mu_{\eta+1}, \mu_{\eta+2}) \dots + \mathcal{P}(\mu_{\zeta-1}, \mu_\zeta) \\ &\quad - [\mathcal{P}(\mu_{\eta+1}, \mu_{\eta+1}) + \mathcal{P}(\mu_{\eta+2}, \mu_{\eta+2}) + \dots + \mathcal{P}(\mu_{\zeta-1}, \mu_{\zeta-1})] \\ &\leq \sum_{i=1}^{\zeta-1} \mathcal{P}(\mu_i, \mu_{i+1}) \leq \sum_{i=1}^{\infty} \mathcal{P}(\mu_i, \mu_{i+1}) \leq \sum_{i=1}^{\infty} \frac{1}{i^{1/\ell}}. \end{aligned}$$

As $\ell \in (0,1)$ the infinite series $\sum_{i=1}^{\infty} \frac{1}{i^{1/\ell}}$ converges, consequently we get $\lim_{\zeta, \eta \rightarrow \infty} \mathcal{P}(\mu_\eta, \mu_\zeta) = 0$. This

proves that $\{\mu_\eta\}$ is a Cauchy sequence in $(\mathfrak{X}, \mathcal{P})$ and consequently we get $\{\mu_\eta\}$ is Cauchy in $(\mathfrak{X}, d_{\mathcal{P}})$.

Since $(\mathfrak{X}, \mathcal{P})$ is complete PMS, this ensures that $(\mathfrak{X}, d_{\mathcal{P}})$ is complete metric space, then $\exists u_p \in \mathfrak{X}$ such that $\lim_{\eta \rightarrow \infty} d_{\mathcal{P}}(\mu_\eta, u_p) = 0$.

$$\text{Moreover } \mathcal{P}(u_p, u_p) = \lim_{n \rightarrow \infty} \mathcal{P}(\mu_\eta, u_p) = \lim_{\zeta, \eta \rightarrow \infty} \mathcal{P}(\mu_\eta, \mu_\zeta) = 0 \dots (3.1.13)$$

Since $\mu_\eta \rightarrow u_p$ then $\mathfrak{T}\lambda_{2\eta+1}, \mathfrak{f}\lambda_{2\eta} \mathfrak{S}\lambda_{2\eta+2}$ and $g\lambda_{2\eta+1}$ converges to u_p .

Step-III

Now we claim that the mappings $\mathfrak{S}, \mathfrak{T}, \mathfrak{f}$ and g have a common fixed point.

Suppose that the Range $\mathfrak{T}(\mathfrak{X})$ is closed, then $\exists v_p \in \mathfrak{X}$ such that $\mathfrak{T}v_p = u_p \dots (3.1.14)$

Now assuming that $gv_p \neq u_p$ and put $\lambda = \lambda_{2\eta}, \mu = v_p$ in (3.1.1) then

$$(\mathfrak{f}\lambda_{2\eta}, gv_p) > 0 \Rightarrow \tau + \mathcal{F}(\mathcal{P}(\mathfrak{f}\lambda_{2\eta}, gv_p)) \leq \mathcal{F}(\mathcal{M}(\lambda_{2\eta}, v_p)) \dots (3.1.15)$$

where

$$\begin{aligned} \mathcal{M}(\lambda_{2\eta}, v_p) &= \max\{\mathcal{P}(\mathfrak{S}\lambda_{2\eta}, \mathfrak{T}v_p), \mathcal{P}(\mathfrak{f}\lambda_{2\eta}, \mathfrak{S}\lambda_{2\eta}), \mathcal{P}(gv_p, \mathfrak{T}v_p), \frac{1}{2}[\mathcal{P}(\mathfrak{f}\lambda_{2\eta}, \mathfrak{T}v_p) + \\ &\mathcal{P}(gv_p, \mathfrak{S}\lambda_{2\eta})]\} \\ &= \max\{\mathcal{P}(u_p, u_p), \mathcal{P}(u_p, gv_p), \mathcal{P}(u_p, u_p), \frac{1}{2}[\mathcal{P}(u_p, u_p) + \mathcal{P}(u_p, gv_p)]\} \end{aligned}$$

$$\tau + \mathcal{F}(\mathcal{P}(u_p, gv_p)) \leq \mathcal{F}(\mathcal{P}(u_p, gv_p)) \text{ this a contradiction with } \tau > 0.$$

$$\text{Thus } gv_p = u_p \dots (3.1.15)$$

Therefore using (3.1.14) and (3.1.15) we obtain $\mathfrak{T}v_p = gv_p = u_p$. Since g and $\mathfrak{T}$ are WC mappings then, $gu_p = g\mathfrak{T}v_p = \mathfrak{T}gv_p = \mathfrak{T}u_p \dots (3.1.16)$

Now we show that $gu_p = v_p$.

On contrary, let $gu_p \neq v_p$ and use $\lambda = \lambda_{2\eta}, \mu = v_p$ in (3.1.1) then

$$\begin{aligned} \tau + \mathcal{F}(\mathcal{P}(\mathfrak{f}\lambda_{2\eta}, gv_p)) &\leq \mathcal{F}(\mathcal{M}(\lambda_{2\eta}, u_p)) \\ \mathcal{M}(\lambda_{2\eta}, u_p) &= \max\{\mathcal{P}(\mathfrak{S}\lambda_{2\eta}, \mathfrak{T}u_p), \mathcal{P}(\mathfrak{f}\lambda_{2\eta}, \mathfrak{S}\lambda_{2\eta}), \mathcal{P}(gu_p, \mathfrak{T}u_p), \frac{1}{2}[\mathcal{P}(\mathfrak{f}\lambda_{2\eta}, \mathfrak{T}u_p) \\ &+ \mathcal{P}(gu_p, \mathfrak{S}\lambda_{2\eta})]\} \\ &= \mathcal{P}(u_p, gu_p). \end{aligned}$$

By permitting, continuity of $\mathcal{F}$ and applying the limit as $\eta \rightarrow \infty$, we have

$$\tau + \mathcal{F}(\mathcal{P}(u_p, gu_p)) \leq \mathcal{F}(\mathcal{M}(u_p, gu_p)) \text{ which is contradiction.}$$

Therefore $\mathcal{P}(u_p, gu_p) = 0$, this yields

$$\mathfrak{T}u_p = gu_p = u_p \dots\dots(3.1.17)$$

Now we show that u_p is a fixed pint of the mappings $\mathfrak{f}$ and $\mathfrak{S}$. Since $g(\mathcal{X}) \subseteq \mathfrak{S}(\mathcal{X}) \exists$ a point $\mathfrak{z}_p \in \mathcal{X}$ such that $gu_p = \mathfrak{S}\mathfrak{z}_p$.

Suppose that $\mathfrak{f}\mathfrak{z}_p \neq \mathfrak{S}\mathfrak{z}_p$, then

$$\tau + \mathcal{F}(\mathcal{P}(\mathfrak{f}\mathfrak{z}_p, gu_p)) \leq \mathcal{F}(\mathcal{M}(\mathfrak{z}_p, u_p))$$

$$\mathcal{M}(\mathfrak{z}_p, u_p) = \max\{\mathcal{P}(\mathfrak{S}\mathfrak{z}_p, \mathfrak{T}u_p), \mathcal{P}(\mathfrak{f}\mathfrak{z}_p, \mathfrak{S}\mathfrak{z}_p), \mathcal{P}(gu_p, \mathfrak{T}u_p), \frac{1}{2}[\mathcal{P}(\mathfrak{f}\mathfrak{z}_p, \mathfrak{T}u_p) + \mathcal{P}(gu_p, \mathfrak{S}\mathfrak{z}_p)]\}$$

$$= \max\{\mathcal{P}(gu_p, gu_p), \mathcal{P}(gu_p, gu_p), \mathcal{P}(gu_p, \mathfrak{f}\mathfrak{z}_p), \frac{1}{2}[\mathcal{P}(\mathfrak{f}\mathfrak{z}_p, gu_p) + \mathcal{P}(gu_p, gu_p)]\}$$

$$= \mathcal{P}(gu_p, \mathfrak{f}\mathfrak{z}_p)$$

$$\tau + \mathcal{F}(\mathcal{P}(\mathfrak{f}\mathfrak{z}_p, gu_p)) \leq \mathcal{P}(gu_p, \mathfrak{f}\mathfrak{z}_p) \text{ this a contradiction with } \tau > 0.$$

Thus $gu_p = \mathfrak{f}\mathfrak{z}_p = \mathfrak{S}\mathfrak{z}_p \dots\dots(3.1.18).$

By using weakly compatible nature of $\mathfrak{f}$ and $\mathfrak{S}$, we get

$$\mathfrak{S}u_p = \mathfrak{f}\mathfrak{S}\mathfrak{z}_p = \mathfrak{S}\mathfrak{f}\mathfrak{z}_p = \mathfrak{f}u_p \dots\dots\dots(3.1.19).$$

Finally we show that $\mathfrak{f}u_p = u_p$. Assume $\mathfrak{f}u_p \neq u_p$ and put $\lambda = \mu = u_p$ in (3.1.1) we get

$$\tau + \mathcal{F}(\mathcal{P}(\mathfrak{f}u_p, u_p)) \leq \mathcal{F}(\mathcal{P}(\mathfrak{f}u_p, gu_p)) \leq \mathcal{F}(\mathcal{M}(u_p, u_p))$$

$$\mathcal{M}(u_p, u_p) = \max\{\mathcal{P}(\mathfrak{S}u_p, \mathfrak{T}u_p), \mathcal{P}(\mathfrak{f}u_p, \mathfrak{S}u_p), \mathcal{P}(gu_p, \mathfrak{T}u_p), \frac{1}{2}[\mathcal{P}(\mathfrak{f}u_p, \mathfrak{T}u_p) + \mathcal{P}(gu_p, \mathfrak{S}u_p)]\}$$

$$= \mathcal{P}(u_p, \mathfrak{f}u_p)$$

$$\tau + \mathcal{F}(\mathcal{P}(\mathfrak{f}u_p, u_p)) \leq \mathcal{P}(\mathfrak{f}u_p, u_p) \text{ this a contradiction with } \tau > 0.$$

Thus $\mathfrak{f}u_p = \mathfrak{S}u_p = u_p \dots\dots(3.1.20).$

Using (3.1.17) and (3.1.20) u_p is fixed point of $\mathfrak{f}$, g , $\mathfrak{S}$ and $\mathfrak{T}$.

Step-IV:

Let $\omega_p (\neq u_p)$ be the another fixed point of $\mathfrak{f}$, g , $\mathfrak{S}$ and $\mathfrak{T}$.

Put $\lambda = u_p, \mu = \omega_p$ in the contraction (3.1.1), we get

$$\tau + \mathcal{F}(\mathcal{P}(\mathfrak{f}u_p, \omega_p)) = \tau + \mathcal{F}(\mathcal{P}(\mathfrak{f}u_p, g\omega_p)) \leq \mathcal{F}(\mathcal{M}(u_p, \omega_p))$$

$$\begin{aligned}\mathcal{M}(u_p, \omega_p) &= \max\{\mathcal{P}(\mathfrak{S}u_p, \mathfrak{T}\omega_p), \mathcal{P}(\mathfrak{f}u_p, \mathfrak{S}\omega_p), \mathcal{P}(g\omega_p, \mathfrak{T}\omega_p), \frac{1}{2}[\mathcal{P}(\mathfrak{f}u_p, \mathfrak{T}\omega_p) \\ &\quad + \mathcal{P}(g\omega_p, \mathfrak{S}u_p)]\} \\ &= \mathcal{P}(u_p, \omega_p)\end{aligned}$$

$\tau + \mathcal{F}(\mathcal{P}(\mathfrak{f}u_p, \omega_p)) \leq \mathcal{P}(u_p, \omega_p)$ this a contradiction with $\tau > 0$. Thus $u_p = \omega_p$.

In conclusion, these four mappings have a unique common fixed point.

Example 3.2: Let $(\mathfrak{X}, \mathcal{P})$ with $\mathfrak{X} = [0, 1]$ is a complete PMS and $\mathcal{P}(\lambda, \mu) = \max\{\lambda, \mu\} \quad \forall \lambda, \mu \in \mathfrak{X}$.

Define mappings $\mathcal{F}: \mathbb{R}^+ \rightarrow \mathbb{R}$ and $\mathcal{F}(\alpha) = \log_e \alpha$.

Let $\mathfrak{f}, g, \mathfrak{S}$ and $\mathfrak{T}: \mathfrak{X} \rightarrow \mathfrak{X}$ be defined as $\mathfrak{f}(\lambda) = \frac{\lambda}{4}, g(\lambda) = 0, \mathfrak{S}(\lambda) = \frac{3\lambda}{2}, \mathfrak{T}(\lambda) = \lambda$, then

$\mathfrak{f}(\mathfrak{X}) = [0, \frac{1}{4}]$, $g(\mathfrak{X}) = \{0\}$, $\mathfrak{S}(\mathfrak{X}) = [0, \frac{3}{4}]$, and $\mathfrak{T}(\mathfrak{X}) = [0, 1]$ these ranges of mappings satisfying the inclusion inequalities (i) of theorem 3.1.

Now clearly $\mathfrak{f}(0) = \mathfrak{S}(0) = 0$ gives $\mathfrak{f}\mathfrak{S}(0) = \mathfrak{S}\mathfrak{f}(0)$ which gives the pair $(\mathfrak{f}, \mathfrak{S})$ is weakly compatible and $g(0) = \mathfrak{T}(0) = 0$ gives $g\mathfrak{T}(0) = \mathfrak{T}g(0)$ this implies the pair $(g, \mathfrak{T})$ is weakly compatible at the coincident point zero.

We discuss the existence of contraction condition (3.1.1) under some conditions

$$\text{Now } \mathcal{P}(\mathfrak{f}\lambda, g\mu) = \max\left\{\frac{\lambda}{4}, 0\right\}, \mathcal{P}(\mathfrak{S}\lambda, \mathfrak{T}\mu) = \max\left\{\frac{3\lambda}{2}, \mu\right\}, \mathcal{P}(\mathfrak{f}\lambda, \mathfrak{S}\lambda) = \max\left\{\frac{\lambda}{4}, \frac{3\lambda}{2}\right\},$$

$$\mathcal{P}(g\mu, \mathfrak{T}\mu) = \max\{0, \mu\}, \mathcal{P}(\mathfrak{f}\lambda, \mathfrak{T}\mu) = \max\left\{\frac{\lambda}{4}, \mu\right\} \text{ and } \mathcal{P}(g\mu, \mathfrak{S}\lambda) = \max\left\{0, \frac{3\lambda}{2}\right\}.$$

Case I: If $\frac{3\lambda}{2} > \mu$ then

$$\mathcal{M}(\lambda, \mu) = \max\left\{\frac{3\lambda}{2}, \frac{3\lambda}{2}, \mu, \frac{1}{2}\left[\frac{\lambda}{4} + \frac{3\lambda}{2}\right]\right\} = \frac{3\lambda}{2}$$

$$\mathcal{P}(\mathfrak{f}\lambda, g\mu) = \max\left\{\frac{\lambda}{4}, 0\right\} = \frac{\lambda}{4} > 0 \Rightarrow \tau + \mathcal{F}\left(\frac{\lambda}{4}\right) \leq \mathcal{F}\left(\frac{3\lambda}{2}\right) \Rightarrow \tau + \log_e\left(\frac{\lambda}{4}\right) \leq \log_e\left(\frac{6\lambda}{4}\right).$$

Case II: If $\frac{3\lambda}{2} < \mu$ then

$$\mathcal{M}(\lambda, \mu) = \max\left\{\mu, \frac{3\lambda}{2}, \mu, \frac{1}{2}\left[\mu + \frac{3\lambda}{4}\right]\right\} = \mu$$

$$\mathcal{P}(\mathfrak{f}\lambda, g\mu) = \max\left\{\frac{\lambda}{4}, 0\right\} = \frac{\lambda}{4} > 0 \Rightarrow \tau + \mathcal{F}\left(\frac{\lambda}{4}\right) \leq \mathcal{F}(\mu) \Rightarrow \tau + \log_e\left(\frac{\lambda}{4}\right) \leq \log_e(\mu).$$

This gives $\tau + \log_e \frac{1}{6}\left(\frac{3\lambda}{2}\right) \leq \log_e(\mu)$.

In both the cases, inequality (3.1.1) is satisfied for all λ, μ .

In this illustration, it is observed that zero is the unique common fixed point.

4.Conclusion: In this research article, we have proved a fixed point result for $\mathcal{F}$ – contraction in PMS via weakly compatible mappings. Finally, we have provided one example to support our main result with unique common fixed point.

References:

- [1] Matthwes S G, Partial metric topology, papers on general topology and applications (Flushing , NY,1992), Ann. New York Acad.Sci.,1994, vol 728, pp. 183-197.proc.8th summer conference on General topology and applications. <https://doi.org/10.1111/j.1749-6632.1994.tb44144.x>.
- [2] Ciri L Samet B, Aydi H, Vetro C, common fixed points of generalized contractions on partial metric space and applications, Applied mathematics and computations 2011, Vol 218 no.6, pp.2398-2406. <https://doi.org/10.1016/j.amc.2011.07.005>.
- [3] Aydi H, Abbas M and Vetro C, Partial Hausdorff metric and Nadler's fixed point theorem on partial metric spaces, Topology and Its applications, 2012, Vol 159, no.14, pp.3234-3242. <http://dx.doi.org/10.1016/j.topol.2012.06.012>.
- [4] Abdeljawad Thabet, Karapinar Erdal, Tas K, Existence and uniqueness of a common fixed point on partial metric spaces, Appl. Math. Lett 2011, vol 24, pp.1900-1904. <https://doi.org/10.1016/j.aml.2011.05.014>
- [5] Wardowski, fixed points of a new type of contractive mappings in complete metric spaces, Fixed point theory and applications,2012, Vol 2012(94). <https://doi.org/10.1186/1687-1812-2012-94>.
- [6] Vildan O, Integral Type F-contraction in Partial metric spaces, Journal of Function Spaces ,2019, Article ID 5193862, Vol 2019, pp.1-8. <https://doi.org/10.1155/2019/5193862>.
- [7] Nazam M, Arshad M, Abbas M, existence of common fixed points of improved F-contraction on partial metric spaces. Applied General Topology ,2017, Vol 18.no.2, pp.277-287. <https://doi.org/10.4995/agt.2017.6776>.
- [8] V. M. L. Hima Bindu, G. N. V. Kishore, K. P. R. Rao, Y. Phani, Suzuki type unique common fixed point theorem in partial metric spaces using (C)-condition, Math Sci (2017) 11:39–45. <https://doi.org/10.1007/s40096-016-0202-0>.
- [9] Jungck G, Rhoades B E, fixed point for the set of valued functions without continuity, Indian J. Pure Appl.Math.1998, Vol29(3), pp.227-238. https://www.researchgate.net/publication/236801026_Fixed_Points_for_Set_Valued_Functions_Without_Continuity.
- [10] Srinivas V, Reddy. B.V. B, Umamaheswarrao R, A Focus on a common fixed point theorem using weakly compatible mappings, Mathematical theory and modeling,2012,Vol.2 no.3.pp.60-65. https://www.researchgate.net/publication/277880136_A_Focus_on_a_Common_Fixed_Point_Theorem_using_Weakly-Compatible-Mappings.